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Logical Thinking/ Tu duy logic
Q1. Refer to the number pattern below. Find the 5th term in the sequence.

Duea vao quy ludt s6 dwdi ddy, tim sé thit 5 trong day.
1, 8, 27, 64, __ . ...
A. 125 B. 100 C.65 D. 105
Q2. Tomorrow is Friday. Which day of the week was it 84 days ago?
Ngay mai la thir Sau. Héi 84 ngdy trwede la thir mdy?
A. Saturday (Thu Bdy) B. Thursday (Thiw Nam)
C. Tuesday (Thit Ba) D. Friday (Thur Sau)
Q3. It requires 4 minutes to cut a piece of wood into 2 sections. If the time required
to cut into each section is the same, how many minutes are required to cut a piece of
wood into 3 sections?
Ngu’o"i ta can 4 phit d’é cuwa I khiic g6 thc‘mfz 2 phan. BiNé't rang thoi gial‘a méi lan cua
g0 la nhw nhau, hoi can bao nhiéu phut de cwa khiic go do thanh 3 phan?
A.8 B. 6 C.5 D. 10
Q4. 100 students went on a school trip by coaches. At least how many coaches are

required to carry all of the students, given that each coach can carry no more than 23
students?

]QO hoc S,inh, di tham quan Vfﬁ'i t\rwo“ngﬁcing xe khdch. Hoi can it nhat bao nhiéu xe
dé cho hét so hoc sinh do biét rang moi xe duwoc cho khong quad 23 hoc sinh?

A. 3 B.6 C. 4 D.5

Q5. According to the pattern below, find the most suitable figure for group 5 among
4 answers A, B, C and D.

Duea vdo quy ludt dudi ddy, tim dap én thich hop nhdt cho nhdm 5 trong 4 hinh A, B,
C, D.
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Arithmetic/ S6 hoc
Q6. Find the value of x , given that 5x + 7 = 122.
Tim gia tri cia x biét rang 5x + 7 = 122
A. 21 B. 22 C.23 D. 24
Q7. Find the value of 0 + 3+ 6 + 9 + ... + 57 + 60.
Tim gia tri cua0+3+6+9+ ...+ 57 + 60.
A. 1260 B. 1800 C. 1890 D. 630
Q8. Calculate 23 x 18 + 39 x 23 — 7 x 23.
Tinh 23 % 18 + 39 x 23 — 7 x 23
A. 1150 B. 1510 C. 5150 D. 1105
Q9. Find the value of 2020 — 2000 + 1980 — 1960 + ... + 60 — 40 + 20 — 0.
Tim gia tri cua 2020 — 2000 + 1980 — 1960 + ... + 60 — 40 + 20 = 0.
A. 1000 B. 1020 C. 2040 D. 2000

: 1 1 1 1
Q10. Find the value of + + o + +
2%x3 3x4 4Xx5 98 x99 99 X 100
, P | 1 1 1 1
Tinh gid tri cua + + + o + +
2x3 3x4 4X5 98 x99 99 x 100
49 99 49 1
A — B. — C.— D.-
100 100 50 2

Number Theory/ Ly thuyét sb
Q11. If an 8-digit number 11120204 is divisible by 3 and 4, find the value of A.
Biét rang s6 cé 8 chir s6 11120204 chia hét cho ca 3 va 4, tim gid tri ciia A.
A.2 B.6 C.8 D.4
Q12.Find the unit digit of 6 x 16 x 26 x ... X 96 x 106.
Tim chit 56 tin ciing ciia 6 x 16 x 26 x ... x 96 x 1086.
A5 B.9 C.7 D.6
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Q13. The sum of A and B is 2020. The value of A is four times the value of B. Find
the value of A.

Tong ciia A va B la 2020. Gid tri ciia A gap 4 lan gid tri ciia B. Tim A.
A. 505 B. 1616 C. 404 D. 2525

Q14. Given that X and Y are two 3-digit odd numbers. What is the largest possible
difference between X and Y?

Biét rang X va Y la hai s6 16 c6 3 chir s6. Hoi hiéu giita hai s6 X va Y I6m nhdt cé thé
la bao nhiéu?
A. 899 B. 999 C. 898 D. 900
Q15. How many 3-digit numbers that are divisible by both 3 and 4 are there?
Hoi ¢6 bao nhiéu sé ¢é ba chir s6 chia hét cho ca 3 va 4?
A. 80 B. 75 C. 150 D. 70
Geometry/ Hinh hoc
Q16. How many right-angled triangles are there in the figure below?

Hoi co bao nhieu tam giac vuong trong hinh dwoi day?

A. 14 B. 15 C. 17 D. 19

Q17. A big cube is formed by 8 identical cubes with side length 10 cm. Find the side
length of the big cube in cm?

Mot khoi ldp phirong 16m dwoc tao ra bang cach ghép 8 khéi ldp phwong giong nhau
c6 canh dai 10 ecm. Tim dé dai canh cia khoi ldp phuong lon theo cm.
A.30cm B. 40 cm C.80cm D. 20 cm

Q18. Given a rectangle ABCD and a right-angled triangle EDC as the figure below.
Find the length of line segment BC given that ED = 6 cm, EC = 8cm, DC = 10cm.

Cho hinh chit nhdat ABCD va tam giac vuong EDC nhu hinh dwdi ddy. Tim do dai
doan BC biét rcing ED =6 cm, EC =8cm, DC = 10cm.

10
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A E B
6em 8cm
D 10cm C
A.4.8cm B.2.4cm C.4cm D.5cm

Q19. The figure on the right is composed of identical —
cubes with side length 5 cm. If they paint all top faces of
the solid, what is the value of the painted area in cm??

Hinh bén gom cdc khoi ldp phwong giong nhau c¢é dé dai 1
canh 5cm. Néu nguoi ta son toan bo mat trén cua hinh yau A
do, hoi dién tich cia phan dwoc son la bao nhiéu cm??
A. 160 B. 200

C. 180 D. 175

Q20. A square tile has the following pattern. Given that

the area of the shaded region is 20 cm2. Find the
perimeter of the square tile in cm. F Y I
Mot mié:ng gach lc?t hinh vuong co hoa tiét nhwe hinh duwdi /" i *
day. Biét rang phan in dam co di¢n tich 20cm2. Tinh chu [~/ /

vi ciia mieng gach lat theo cm j-

A. 40 cm B. 60.cm /
C. 80 cm D. 20 cm :

Combinatorics/ T6 hop
Q21. How many 2-digit numbers with no repeated digits are there?
Hoi ¢6 bao nhiéu sé ¢é 2 chit s6 khdc nhau?
A 72 B. 90 C.81 D. 80
Q22. In how many ways can we arrange 4 students in a row?
Hoi c6 bao nhiéu cdach sdp xép 4 hoc sinh thanh 1 hang ngang?
A. 24 B. 4 C.12 D. 10

Q23. In how many ways can 48 workers be divided into groups of equal size given
that the number of groups must be more than 1?

Hoi c6 bao nhiéu cdch dé co thé chia 48 nguoi cong nhan thanh cdc nhém cé sé
nguoi nhu nhau biét rang so nhom phdai lon hon 1?

A7 B. 8 C.9 D. 10

11
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Q24. There are 15 black pens, 14 blue pens and 13 red pens in a box. At least how
many pens should be drawn without looking so that we can get pens in three colors?

Trong hop c6 15 but den, 14 but xanh va 13 but do. Hoi néu khong nhin vao hop thi
can lay ra it nhat bao nhiéu cai but dé chdac chan rang ta lay dwoc but ca ba logi
mau?

A. 42 B. 30 C.3 D. 28

Q25. How many rectangles containing the shaded region are there?

Hoi ¢6 bao nhiéu hinh chit nhdt chiva phan in dagm dwéi day?

A. 16 B. 14 C.12 D. 10

12
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DAP ANDE SO 1:
PRELIMINARY ROUND / FONG LOAI QUOC GIA
Pé thi vong loai qudc gia nim hoc 2020 — 2021
Logical Thinking/ Tw duy logic

Q1.

Solution:

1x1x1=1

2%x2%x2=8

3x3x3=27

4x4x4=064

5x5x5=125

Key: A

Q2.

Solution:

84 : 7 =12 weeks

Thursday

Key: B

Q3.

Solution:

2-1=1

3-1=2

2x4=8

Key: A

Q4.

Solution:

100:23=4...... 8

4+1=5

Key: D

Q5.

Solution: B

Key: B
Arithmetic/ S6 hoc

Q6.
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Solution:

5x +7 =122

5x =115

x=23

Key: C

Q7.

Solution:

0+3+6+9+..+57+60
=(0+60)+(3+57)+ ...+ (27 +33)+30
=60 x 10+ 30 =630

Key: D

Q8.

Solution:

23x 18+ 39 x23—-7x23
=23x(18+39-7)

=23 x50=1150

Key: A

Q0.

Solution:

2020 — 2000 + 1980 - 1960 + ...+ 60 —40+ 20 -0
=20+20+.....+20+20=20 x 51 =1020

Key: B
Q10.
Solution:
1 1 1 1 1
+ + + o + +
2 X3 3 X4 4 X5 98 X 99 99 X 100
1 1 1 1 1 1 1 1 1 1
- 444 ==
2 3 3 4 4 5 98 99 99 100

1 1 _ 50 1 _ 49

2 100 100 100 100

Key: A

Number Theory/ Ly thuyét sb

Q11.

Solution:
1+1+1+2+0+2+0+A=7+A
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(7+A):3and 04 : 4
7+A=15;A=8
Key: C
Q12.
Solution:
The unit digit of
6Xx16x26x..x96%x106=...... 6X....6X. . ..%X. ...6=...6
Key: D
Q13.
Solution:
4+1=5
(2020: 5) x 4 = 1616
Key: B
Q14.
Solution:
999 — 101 =898
Key: C
Q15.
Solution:
3x4=12
12 x 9 =108
12 x 83 = 996
108 ; 120 ; 132 ......... 996 : 75 numbers
Key: B
Geometry/ Hinh hoc

Q16.

Solution:

19 right-angled triangles
Key: D

Q17.

Solution:

10x2=20

Key: D
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Q18.

Solution:

SAAED=%AD><AE
SABEC=%BCX BE

SAAED+SABEC=%ADXAE+%BCXBE

1
2

=~BC x (BE + AE) = BC X AB = S asco

Saaep+ Sasect S arcp =S ABcD
SABCDzzsAECD=2x§EDxCE=6x8=48

S ascp=BC x CD =48
BC=48:CD=48:10=4.8

Key: A
Q19.
Solution:
5x5=25

8 x25=200
Key: B
Q20.
Solution:

20 x 5=100
100=10x 10
10 x 4 =40
Key: A

Q21.

Solution: ab

b:9(b=+#a)
9x9=81
Key: C
Q22.

Solution:

Combinatorics/ T6 hop
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4x3x2x1=24

Key: A

Q23.

Solution:
48=2x2%x2%x2x3
4+1)x(1+1)=5x%x2=10
10-1=9

Key: C

Q24.

Solution:

15+14+1=30

Key: B

Q25.

Solution: 2x2x2x2=16
Key: A
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